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And at the time of the slaughtering, the liquid was still wet upon it

OVERVIEW

oXmw explained that the meat became XMW 93p% WO in a case where they led
the 0°n%w 127 through a river and when they slaughtered it, the water was still wet
upon the cow. There is a dispute between *"w1 and MdOIN as to how the meat of the
cow became axmw 2P0 won.!
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»'"w9 explained that it is impossible that some of the liquid should not fall from
the hide unto the flesh, so the "wa became w217 through this water.

mooIn disagrees:
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And it does not seem right, for if indeed it transferred from the hide to the flesh,
this water is considered 2%, and 7"2%n are not PPMoR according to HXIMY —

Mmoo explains why PwI%n are not P°Wwan according to PXMW:
- *95923n13 1Y YPI RINDY TWINA RIP 1N RIN RIY WNN NNV *ININY Y917 119

Since »X»w expounds X»w° to mean that the water actually becomes Xnv,
therefore there is only one P1op regarding aw>77 and >Xww will establish that
105 by 221 —

mooIN bolsters his contention that according to XY only 11211 are 2°won; not PwIN:
= 92N NNV 913D 19 9VYIN »vaT 0vn 55133 N2y (PP RFD P

For therefore XY mentioned, ‘and he led her through a river’, because he

requires that the w277 should be from the river which is 92y; however once it is
transferred from the hide to the flesh the water is considered ¥1>n and w120 is not 2Wwan.

"It was only the hide that was in contact with the water; how does that translate that the meat (when the hide is
removed) is XMV 72P% Wwon.
? See “Thinking it over’ # 1.
? See the X3 on X,70. See also MooIN on this XY 7"7 7y [TIE footnote # 5 & 6].
* [Seemingly] we are discussing the w37 issue according to X111 72 01 "1 who maintains that X>mawn N2 PR is
not 1°wan, therefore he must maintain that Pw12n 1Ppwn are not n"n 1w (otherwise how can we say that n°a Ppwn
X°mavn [which are PwYPn] are not °won). See previous X2 7"7 'O that "2 maintains wnn RAY> (like SXMWw) and
maintains that the one P05 of w1 refers to 172171, See nyw2 7"7 1" .
3 Hxmw did not say the cow became wet because they poured water over it, since that is 2171,
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mooIn offers his explanation:
= 9WAaN YN YN 2T DYT PHNS 13929 9IINY

And the >''9 maintains that the 2w2 became w2177 through the 9 being wet -
- 9PYanY 7‘1)91\’) Y Nivy 9195 JaN 9rvanb S5 Wy IN 91999 (2,mp pyn) AVIFTNI YIYNAT

For in 2um =i 279 there is a dispute whether there is a handle for w5,
but all agree that there is a 92 for w7 -

10572901 "0 1ya 099 182 Snyn Y3
And the water wetted the entire hide while the water was still 239212,

SUMMARY
The w2 becomes WO either because it transferred from the 7Y to the meat
(*"w"), or the MY is a MW which is 7°won the w2 (the view of moon).

THINKING IT OVER

1. mooin asks on *"wA that if the water transferred to the awa they are pwion.'
However, 112771 even 720 are 7°Wwon so we can say that the w2 is 112777 Xnw!
What is the question on *"wa!"!

2. Why are not the 7"pwn (whether they are on the 7% or on the 7w31) considered
X°M2v°» N2 PPWwn and not capable of being 1won?!'

% A 7 or hand refers to the stem of a fruit. There is a dispute whether if the stem became wet is the fruit considered
ALY D2t wona.
" The = or guard refers to the peel or shell of a fruit. All agree that if the 9 became wet the 2 is 22p% wam
axmw. Here too the hide is the 9 for the A3, if the hide became wet, the W2 is ARMY K% WA,
¥ It is possible that in order for a 7281 to become XMW 22p2 W2 it is not necessary that the entire 99%» become
wet, but rather just (the major) part of it. However, here where only the 7w became wet, perhaps it is necessary that
the entire W (M7 95) becomes wet, especially since when the animal became wet it was alive and not capable of
being nXmw 23p% wom. Tt is only after it was vnws that it can become w21; therefore we require that X2 MW7 932
72172 oo, See (QW XIIN RITIAY) DRIMAY 727
? See T "7 R,70 '0In that 272177 are 7°won only after they left am1am o1pn. According to "W since the Ppwn are
transferred from the v to the 7w31 it is considered o°w12n. However according to mooin that the o°» while it is on the
T is 7 won therefore they are still considered 1727 (which are 2 wan after they become 1w170).
12 See footnote # 2.
' See Yxmw un.
12 See xa R"wAn.
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